








































































































5100

Up \
Iy ~

21 22 23 24

£

FIGURE 12. CABLE AND JUMPER ASSEMBLY COMPONENT PARTS. SEE LIST 12.
26

)

N






5100

FIGURE- UNITS
INDEX PART PER DESCRIPTION FOR FIGURE 12
NUMBER | NUMBER | ASM. (1 2 3 4
12 NO NO. CABLE AND JUMPER ASM COMPONENT PARTS
- 1 236916 e TERMINAL,SLIP ON 24-22 AWG
- 1A 430798 « TERMINAL,SLIP ON 20-18 AWG
- 1B 430799 « TERMINAL,SLIP ON 24-18 AWG
- 2 483676 « TERMINAL,RING 26-22 AWG NO. 6 HOLE
- 2A 483677 e TERMINAL,RING 20-18 AWG NO. 6 HOLE
- 2B 483678 « TERMINAL,RING 16-14 AWG NO. 6 HOLE
- 2C 483681 « TERMINAL,RING 20-18 AWG NO. 8 HOLE
- 2D 483682 « TERMINAL,RING 16-14 AWG NO. 8 HOLE
- 3 652650 « STRAIN RELIEF,26-28 AWG
- 4 652651 « STRAIN RELIEF
- 5 681963 « PLUG
- 6 811802 « CARD GUIDE,6 PAC
- 7 1166114 « TERMINAL,PIN 22-18 AWG
- 8 1166115 e TERMINAL,SOCKET 22-18 AWG
- 9 1166116 e HOUSING,SOCKET TERMINAL
- 10 1166117 » HOUSING,PIN TERMINAL
- 1 1655338 « PLUG,25 POS
- 11A | 1608649 e PLUG,15 POS
- _11B 1608688 e PLUG,25 POS
- 11C 1655338 « CONNECTOR,PLUG 25 POS
- 12 1655336 « RECEPTACLE,25 POS
- 12A ] 1608648 e RECEPTACLE,15 POS
- 12B 1608689 + RECEPTACLE,25 POS
- 12¢C 1655336 « CONNECTOR,RECEPTACLE 25 POS
- 13 1655337 « TERMINAL,PIN 24-20 AWG
- 13A | 1655337 . SOCKET,20-24 AWG
- 14 1655339 « TERMINAL,PIN 24-20 AWG
- 14A | 1655339 « PIN,CONTACT 20-24 AWG
- 15 1608761 « CLAMP,CABLE
- 16 1608762 » CONNECTOR
- 17 1608777 e CLAMP,CABLE EXTERNAL
- 18 1608893 « TERMINAL,SLIP ON 24-20 AWG
- 19 1855555 « HOUSING
- 19A | 1855555 + SHIELD
- 20 2637682 e CONNECTOR-DISCRETE 26-22 AWG
- 20A | 2637692 e CONNECTOR-DISCRETE 32-28 AWG
- 21 2637689 + INSERT,POLARIZATION
- 22 2731850 « HOUSING,1 X 4
- 23 5252531 « CONNECTOR
- 24 5412642 « TERMINAL,PIN 16-14 AWG
- 25 5412817 « TERMINAL,QUICK DISCONNECT
- 26 5800634 « CARD
- 26A |5800674 < CARD
- 26B | 5999990 « CARD
- 26C 656986 « CARD
- 27 813803 e« STRAIN RELIEF
- 28 813804 « STRAIN RELIEF
- 29 1608497 « PIN
- 30 1608350 e CLIP
- 31 1608438 « RETAINER
28

-



»

-~

- -

““

5100

FIGURE- UNITS
INDEX PART PER DESCRIPTION FOR FIGURE 13
NUMBER | NUMBER | ASM. |1 2 3 4
13 ATTACHING PARTS
- 50 641 « SCREW,MACH-FIL HD 8-32 X 3/4 LG
- 51 2179 e SCREW,MACH-FLAT HD 8-32 X 5/8 LG
- 52 3587 e SCREW,MACH-FLAT HD 8-32 X 1-1/2 LG
- 563 4569 « WASHER,FLAT NO. 8 X 1/2 OD X 1/16 THK
- b4 5528 » SCREW,MACH-BIND HD 8-32 X 5/8 LG
- b5 6364 »  WASHER,LOCK-SPLIT NO. 6 X 1/4 OD
- 56 10170 + SCREW,MACH-BIND HD 6-32 X 1/4 LG
- 57 20038 « WASHER,FLAT .128 ID X 5/16 OD X 1/32 THK
- 58 25627 « SCREW,MACH-BIND HD 8-32 X 1/2 LG
- 59 34512 » SCREW,MACH-BIND HD 8-32 X 3/8 LG
- 60 35739 « SCREW,MACH-BIND HD 6-32 X 7/16 LG
- 61 37913 « NUT,HEX 4-40
- 62 38352 « SCREW,MACH-FIL HD 6-32 X 3/8 LG
- 63 38442 + SCREW,MACH-FLAT HD 6-32 X 1/4 LG
- 64 38443 « SCREW,MACH-FLAT HD 6-32 X 5/16 LG
- 65 38457 « SCREW,MACH-FLAT HD 8-32 X 3/4 LG
- 66 48548 + SCREW
- 67 52522 « SCREW,MACH-FLAT HD 4-40 X 5/16 LG
- 68 55726 » SCREW,MACH-BIND HD 6-32 X 3/16 LG
- 68A 56722 « WASHER,LOCK-EXT T .141 ID
- 69 58207 « SCREW,MACH-BIND HD 8-32 X 1/4 LG
- 69A 62031 «  WASHER,LOCK-INT T NO. 6 X .295 OD
- 69B 67873 « SCREW,THD FORM-PAN HD 4-40 X .188 LG
- 70 81693 « SCREW,MACH-BIND HD 6-32 X 3/8 LG
- N 109317 « SCREW,MACH-FLAT HD 8-32 X 1 LG
- 72 120571 « WASHER,FLAT 1/4 ID X 5/8 OD X 1/16 THK
- 73 149897 « SCREW,CAP-SOC HD 8-32 X 3/8 LG
- 74 170225 < SCREW AND WSHR 6-32 X 7/16 LG
- 75 186399 « SCREW,MACH-BIND HD 2-56 X 3/16 LG
- 75A 186636 « SCREW,MACH-BIND HD 5-40 X 1/8 LG
- 76 186758 « SCREW,MACH-BIND HD 8-32 X 7/16 LG
- 77 186759 « SCREW,MACH-BIND HD 8-32 X 5/16 LG
- 78 236550 « SCREW,MACH-BIND HD 4-40 X 3/8 LG
- 79 251970 » SCREW,MACH-BIND HD 4-40 X 1/4 LG
- 80 257187 « NUT,HEX 6-32
- 81 257958 e SETSCREW,6 FLUTE HD-FL PT 4-40 X 3/16 LG
- 82 257984 «  WASHER,LOCK-SPLIT .115 ID X .212 OD
- 82A 257986 « WASHER FLAT .156 ID .312 OD X .035 THK
- 83 322550 « SCREW,MACH-BIND HD 6-32 X 1/2 LG
- 84 322551 « SCREW,MACH-BIND HD 6-32 X 3/4 LG
- 85 322552 « SCREW,MACH-BIND HD 6-32 X 7/8 LG
- 86 338238 « SCREW,MACH-BIND HD 4-40 X 5/16 LG
- 87 438545 + SCREW,MACH-BIND HD 2-56 X 7/8 LG
- 88 438548 « SCREW,MACH-BIND HD 4-40 X 3/16 LG
- 8B8A 438566 « SCREW,MACH-BIND HD 6-32 X 1/8 LG
- 89 438597 e SCREW,MACH-FLAT HD 8-32 X 1-3/4 LG
- 90 472729 » SCREW,MACH-FLAT HD 4-40 X 3/8 LG
- 91 1138796 e WASHER,FLAT .113 ID X .328 OD
- 92 1177294 « SCREW
- 92A | 1608267 « SCREW
- 928 1608277 « SCREW,THD FORM-HEX WSHR HD 6-19 X 3/8 LG
- 92C 1608287 « SCREW,MACH-FLAT SOC HD 8-32 X 3/4 LG
- 92D | 1608288 « SCREW,MACH-FLAT SOC HD 8-32 X 1 LG
- 92E 1608293 + SCREW,MACH FLAT HD 8-32 X 1-3/4
- 93 1608427 * SCREW,THD FORM-HEX WSHR HD 6-19 X 1/2 LG
- 94 1608428 » SCREW,THD FORM-HEX WSHR HD 1/4 LG
- 95 1608429 » SCREW,THD FORM-HEX WSHR HD 4-20 X 1/4 LG
- 96 1608430 + SCREW,THD FORM-HEX WSHR HD 6-19 X 3/8 LG
- 97 1786825 « SCREW
- 98 2181011 « SCREW,THD FORM-HEX WSHR HD 6-32 X 1/2 LG
- 98A |2451197 « SCREW,THD FORM HEX WSHR HD 6-19 X 5/16 LG
- 98B |2451224 + SCREW,THD FORM HEX WSHR HD 8-16 X 7/16 LG
- 99 5350006 + SCREW,THD FORM-HEX WSHR HD 6-32 X 1/2 LG

29




30

5100

THIS PAGE INTENTIONALLY LEFT BLANK

..
\i( . //
s
NS
- \1
~
S
-
~
/
N
o
y
N
i,
\
e
/
‘\.
« /
N
N
NS

N

)

2



o,

¢

i

. 5100
(' NUMERICAL INDEX
: PART LIST AND PART LIST AND PART LIST AND PART LIST AND
( NUMBER INDEX NO. NUMBER INDEX NO. NUMBER INDEX NO. NUMBER INDEX NO.
641 13 50 602484 11 5 1608347 10 - 8 1608741 8 - 15
2179 13 51 602484 11 9 1608350 12 - 30 1608743 9 - 6§
3587 13 52 642763 10 4 1608352 5 - 18 1608746 9 - 2
4569 13 53 643779 1 25 1608379 5 - 3E 1608748 9 - 33
5528 13 54 652650 12 3 1608380 5 - 3A 1608750 9 - 32
6364 13 55 652651 12 4 1608381 5 - 3C 1608752 9 - 7
10170 5 27 656986 12 26C 1608381 5 - 3F 1608753 8 - 26
‘ 10170 13 56 681963 12 5 1608382 5 - 3C 1608754 8 - 1
10429 4 14 811802 12 6 1608383 5 - 3C 1608755 8 - 1
20038 13 57 811804 5 20 1608383 5 - 3F 1608758 g - 6
25627 13 58 813179 5 9 1608400 5 - 1 1608761 12 - 15
- 34512 13 59 813590 8 17A 1608418 2 - 3 1608762 12 - 16
( 35739 13 60 813803 12 27 1608421 1 - 13 1608763 8 - 16
37913 13 61 813804 12 28 1608426 5 - 16 1608764 8 - 19
38352 13 62 818002 5 21 1608427 13 - 93 1608764 9 - 31
38442 13 63 819408 5 22 1608428 13 - 94 1608765 g - 15
) 38443 3 17 852303 5 9A 1608429 13 - 95 1608772 g - N
( 38443 5 28 855252 11 2 1608430 13 - 96 1608777 12 - 17
38443 13 64 1138796 13 91 1608438 5 - 3H 1608778 9 - 30
38457 13 65 1143227 10 14 1608438 12 - 31 1608781 g - 9 ;
48548 13 66 1166114 12 7 1608440 3 - 5 1608784 9 - 12 4
52522 13 67 1166115 12 8 1608471 4 - 9 1608785 8 - 17 i
( 55726 13 68 1166116 12 9 1608472 4 - 11 1608786 8 - 12
56722 13 68A 1166117 12 10 1608475 2 - 8 1608793 8 - 20 |
58207 1 24 1177294 13 92 1608477 1 - 12 1608794 8 - 3 !
. 58207 2 18 1589131 4 13 1608481 5 - 12 1608795 9 - 21
58207 3 18 1608100 8 23 1608482 5§ - 13 1608796 9 - 8
58207 13 69 1608101 1 8 1608482 5 - 14 1608797 9 - 13
62031 13 69A 1608115 8 26 1608483 1 - 19 1608798 9 - 10
67873 13 698 1608118 3 9 1608483 2 - 10 1608803 1 - N
81693 13 70 1608118 11 1608491 5 - 3D 1608803 1 - 14
109317 13 71 1608119 11 7 1608491 5 - 19 1608809 1 - 25
120571 13 72 1608120 1 3 1608497 5 - 3G 1608813 1 - 1
138746 8 13 1608129 1 16 1608497 12 - 29 1608816 2 - 17
138755 2 1M 1608130 1 16 1608524 3 - 13 1608821 4 - 12
149897 13 73 1608131 1 16 1608524 8 1608826 4 - 10
169698 8 25 1608132 1 16 1608524 9 1608827 1 - 8
170225 13 74 1608133 1 16 1608525 3 - 13 1608828 5 - 10
179946 1 4 1608135 1 12 1608525 8 1608832 1 - 3
186399 13 75 1608136 1 12 1608525 9 1608833 1 - 2
186636 13 75A 1608137 1 12 1608526 3 - 13 1608836 3 - 14
186758 13 76 1608138 1 12 1608526 8 1608845 3 - 156
186759 13 717 1608145 1 15 1608526 9 1608846 1 - 17
204363 8 2 1608146 1 15 1608530 8 - 20 1608848 3 - 3
204363 9 1 1608147 1 15 1608531 8 - 20 1608850 3 - 1
: 236550 13 78 1608148 1 15 1608532 8 - 20 1608850 5
236916 12 1 1608155 1 10 1608533 5 - 10 1608856 1 - 21
251970 13 79 1608156 1 10 1608544 3 - 1 1608858 10 - 13
257187 13 80 1608157 1 10 1608545 2 - 6 1608859 5 - 7
257958 13 81 1608158 1 10 1608545 10 - 6 1608865 2 - 7
[ 257984 13 82 1608165 1 9 1608549 10 - 3 1608867 10 - 1
257986 13 82A 1608166 1 9 1608552 5 - 8 1608867 M- 1
303514 3 2 1608167 1 9 16085563 5 - 3B 1608870 3 - 9
322550 13 83 1608168 1 9 1608570 4 - 3 1608870 10
. 322551 13 84 1608175 1 3A 1608571 2 - 15 1608872 10 - 17
322552 13 85 1608176 1 3A 1608571 4 - 1 1608874 4 - 4
338238 13 86 1608177 1 3A 1608572 4 - 2 1608876 3 - 8
362243 10 16 1608178 1 3A 1608589 5 - 2 1608877 10 - 5
364312 5 11 1608180 1 20 1608591 10 - 10 1608878 5 - 3
369207 1 6 1608198 11 10 1608599 9 - 14 1608879 2 - 13
( 430798 12 1A 1608199 5 15 1608648 12 - 12A 1608880 2 - 16
430799 12 1B 1608267 13 92A 1608649 12 - 11A 1608880 4
438545 13 87 1608277 5 27 1608685 4 - 7 1608885 4 - 15
438548 1 23 1608277 13 928 1608686 4 - & 1608886 4 - 8
438548 2 4A 1608281 5 4 1608688 12 - 11B 1608890 1 - 15
( 438548 13 88 1608282 8 33 1608689 12 - 12B 1608891 1 - 10
438566 13 88A 1608284 8 26 1608706 3 - 13 1608892 1 - 9
438597 13 89 1608287 13 92C 1608706 8 1608893 12 - 18
472729 13 90 1608288 13 92D 1608706 9 1608894 5 - 3B
483676 12 2 1608289 1 20 1608707 9 - 18 1608895 10 - 12
( 483677 12 2A 1608291 1 18 1608714 8 - 14 1608896 2 - 14
483678 12 2B 1608293 13 92E 1608720 9 - 4 1608897 5 - 6
483681 12 2C 1608307 5 25 1608721 8 - 21 1608899 2 - 12
483682 12 2D 1608312 2 4 1608722 8 - 23 1611347 1 - 23
: 512071 10 15 1608313 2 4 1608728 9 - 29 1611347 2 - 4A
( 512137 10 2 1608320 5 156 1608733 9 - 17 1643292 6 - 7
512137 11 2 1608330 5 7A 1608734 9 - 19 1643293 6 - 11
526378 8 28 1608334 1 3A 1608737 9 - 20 1643294 6 - 2
C 602484 10 7 1608336 3 8 1608738 9 - 16 1643296 6 - 16

e

S/



5100

NUMERICAL INDEX

PART LIST AND PART LIST AND PART LIST AND PART LIST AND
NUMBER INDEX NO. NUMBER INDEX NO. NUMBER INDEX NO. NUMBER INDEX NO.
1643297 6 - 17 5252836 8 27
1643298 6 - 4 5350006 13 99
1655336 12 - 12 5412642 12 24
1655336 12 - 12C 5412817 12 25
1655337 12 - 13 5852875 2 18
1655337 12 - 13A 5552875 3 18
1655338 12 - 11 5564569 5 5
1655338 12 - 11¢C 5564570 5 5
1655339 12 - 14 5800634 12 26
1655339 12 - 14A 5800674 12 26A
1786825 6 - 15 5999990 12 26B
1786825 13 - 97 8240000 5 23
1825365 1 -7 8527645 8 18
1825365 2 - 2
1855555 12 - 19
1855555 12 - 19A
1860276 10 - 9
1864454 6 - 8
1864481 6 - &

1864482 6 - 6
1864483 6 - 12
1864484 6 - 13
1864995 6 - 1
1864996 6 - 1
1865328 3 - 10
1865328 6
1865329 3 - 10
1865329 6
1865335 6 - 14
1865347 6 - 3
1865348 6 - 1
1865349 6 - 18
1865350 3 - 10
1865350 6
2175670 9 --3
2181011 13 - 98
2397045 4 - 6
2451128 1 - 22
2451180 1 - 4
2451180 2 - 1
2451180 2 - 9
2451180 3 - 6
2451197 13 - 98A
2451199 3 - 17
2451199 5 - 28
2451224 1 - 24
2451224 13 - 98B
2451225 3 - 16
2451246 5 - 30
2451249 5 - 29
2451251 8 - 30
2451252 8 - 32
2451253 8 - 29
2451254 8 - 31
2451258 8 - 31
2451259 8 - 29
2451261 1 -

2451261 1 - 1
2451262 1 - 1A
2451263 5 - 17
2451275 5 - 10
2451315 1 - 1
2451318 1 - 1A
2451319 5 - 17
2455036 8 - 24
2469297 3 - 12
2538125 1 - 5
2596291 5 - 26
2596291 11 - 6
2597163 3 - 7
2637682 12 - 20
2637689 12 - 21
2637692 12 - 20A
2731026 5 - 24
2731850 12 - 22
5183361 6 - 9
5183362 6 - 10
5252531 12 - 23
5252805 10 - 11




L4

- oa m m m e e e

ple)

7

_ Name

READER’'S COMMENT FORM

5100 PORTABLE COMPUTER $131-0599-3

YOUR COMMENTS, PLEASE . ..

Your comments assist us in improving the usefulness of our publications; they are an important
part of the input used in preparing updates to the publications. All comments and suggestions
become the property of IBM.

Please do not use this form for technical questions about the system or for requests for additional
publications; this only delays the response. Instead, direct your inquiries or requests to your |BM
representative or to the 1BM branch office serving your locality.

Corrections or clarifications needed:

Page Comment

Due to the current paper shortage, we will not send a reply to your comments uniess you
check the box below.

1 would like a reply. D

Address

® Thank you for your cooperation. No postage necessary if mailed in the U.S.A.




FIRST CLASS
PERMIT NO. 387
ROCHESTER, MINN.

BUSINESS REPLY MAIL

NO POSTAGE STAMP NECESSARY IF MAILED IN THE UNITED STATES

POSTAGE WILL BE PAID BY . . .

IBM Corporation

General Systems Division
Development Laboratory
Publications, Dept. 245
Rochester, Minnesota 55901

International Business Machines Corporation
General Systems Division

5775D Glenridge Drive N.E.

Atlanta, Georgia 30301

(USA Only)

IBM World Trade Corporation
821 United Nations Plaza, New York, New York 10017
(International)

1-66G0-LELS 'V'S'N ul patulid



READER’S COMMENT FORM

AN

5100 PORTABLE COMPUTER $131-0599-3

YOUR COMMENTS, PLEASE . ..

Your comments assist us in improving the usefulness of our publications; they are an important
part of the input used in preparing updates to the publications. All comments and suggestions
become the property of IBM.

Please do not use this form for technical questions about the system or for requests for additional
publications; this only delays the response. Instead, direct your inquiries or requests to your |BM
representative or to the |BM branch office serving your locality.

Corrections or clarifications needed:

Page Comment

Due to the current paper shortage, we will not send a reply to your comments unless you
check the box below.

| would like a reply. D

Name
Address

® Thank you for your cooperation. No postage necessary if mailed in the U.S.A.

-~ -



FIRST CLASS
PERMIT NO. 387
ROCHESTER, MINN,

BUSINESS REPLY MAIL

NO POSTAGE STAMP NECESSARY |IF MAILED IN THE UNITED STATES

POSTAGE WILL BE PAID BY . . .

IBM Corporation

General Systems Division
Development Laboratory
Publications, Dept. 245
Rochester, Minnesota 55901

International Business Machines Corporation
General Systems Division

5775D Glenridge Drive N.E.

Atlanta, Georgia 30301

(USA Only)

IBM World Trade Corporation
821 United Nations Plaza, New York, New York 10017
(International)

L-66G0-LELS 'V'S'N ul patulld



[NSNTRCRCHONURCRCRCREES N A A A A B



Use clear acetate tab

— Fold
© obtained locally

=
Q
v
n

$131-0599:3

®
International Business Machines Corporation
General Systems Division
5775D Glenridge Drive N.E.
Atlanta, Georgia 30301
(USA Only)

IBM World Trade Corporation
821 United Nations Plaza, New York, New York 10017
. (International) '

€-6650-1E1S "V'S'N Ul paiulyd

OO

')
S

O O

]

F
A4
s W~

-

£
%

)

s

oo C e 0

S

e



